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93 x 28
5 %3
5% 3
5 %3
4x1
7168001 = x113, 39
7168002 = X114, P40




Block 1: | o1 w2 93 w1 ©5 Y6 @1 @5 Yo Pl P11 P12 P13 Pla
11 = X1 1 .
2601 = Y2 1.
2605 = Y3 1.
2603 = X4 1 .
2604 = X5 1 .
2605 = X6 1 .
2606 = x7 | . 1.
3001 = X8 2 . . 1
8191 = X9 1 1 . 1 . 1
8192 = X10 1 1 . 1 . 1
8193 = X11 1 1 . . 1 1 .
22751 = X12 1 . . 1 1 1 1 1 .
2275 =x13 | 1 . 1 1 1 . 1 1 .
22753 =x1a | 1 1 o1 1 o1 1 .
27, =x15| 1 1 1 11 1 )
28081 = X16 . . . 1
54601 = X17 1 . . 1 1 1
54602 = X18 1 . 1 . 1 1
54603 = X19 1 . . 1 1 1
54604 = X20 1 . 1 1 . 1
54605 = X21 1 . 1 1 . 1
94501 = x23 . 1 1 1 1 1 1 1 1 1 1 1 1
175501 = x24 | 2 1 1 1 1 1 1 2 .
182007 = Y25 . 1 .
182002 = X26 1 . 1 1
182003 = X271 1 . 1
182004 = X28 1 . 1
182005 = X29 . . 1 1
234001 = Y30 2 . .01 11
234006 = x35 . . . . . .2 . 1 . . 1 1
24192y =x3¢ | 2 2 2 2 2 2 2 3 1 1 1 1 .
27300, =37 | 4 2 2 2 2 2 2 4 1 1 1 1 1
29120; = Y38 2 . 2 . 1 1 1 1 2
201205 = Y39 2 . 2 . 1 1 1 1 2
201203 = Y40 2 2 1 1 1 1 2



(Block 1:) | ¢15 @16 @17 P18 P19 P20 P21 P22 P23 P2u P28 P29 P30
Li=x1
2601 = X2
2602 = X3
2603 = X4
2604 = X5
2605 = X6
2606 = X7
3001 = X8
8191 = X9
8192 = x10
8193 = x11
22751 = Xx12
22752 = Xx13
22753 = X14
22754 = X15
28081 = x16
54601 = x17
54602 = X138
54603 = x19
54604 = x20
54605 = x21
54606 = Xa22
94501 = X23 .
175501 = X24 1
182001 = X25 1
182002 = X26 .
182004 = X28 1 .
182005 = X29 1 1
234001 = X30 1
234002 = X31 . .
234003 = X32 | .
234004 = X33 ) .
234005 = X34 )
234006 = X35 .
241921 = X36 1
273001 = X37 1 1
291201 = X38 1
291202 = X39

291203 = X40




(Block 1:)

©31

Li=x1

2601 = X2
2602 = X3
2603 = X4
2604 = X5
2605 = X6
2606 = X7
3001 = X8
8191 = X9
8192 = X10
8193 = x11
22751 = X12
22752 = X13
22753 = X14
22754 = X15
28081 = X16
54601 = X17
54602 = X18
54603 = X19
54604 = X20
54605 = X21
54606 = Xa2
94501 = x23
175501 = X24
182001 = X25
182002 = X26
182003 = X27
182004 = X28
182005 = X29
234001 = X30
234002 = X31
234003 = X32
234004 = X33
234005 = X34
234006 = X35
241921 = X36
273001 = X37
291201 = X38
291202 = X39

291203 = X40




(Block 1:) | o1 @2 3 a5 w6 P71 Ps P9 Y0 P11 P12 P13 Pud
291204 = x41 2 . 2 . 1 1 1 1 2
291205 = Y42 2 . 2 . 11 1 12
291206 = 43 | . . . 2 . . 2 . 1 1 1 1 2
40950 = s | 2 3 1 1 1 1 1 2 . 1 1 1
409502 =x4s | 2 1 3 1 1 1 1 2 1 . 1 1
409503 =x4 | 2 1 1 3 1 1 1 2 . 1 1 1
409504 =47 | 2 1 1 1 3 1 1 2 1 1 . 1
409505 =yas | 2 1 1 1 1 3 1 2 1 1 1
409506 =xa0| 2 1 1 1 1 1 3 2 1 11 .
491401 = 53 1. 11
491402 = x54 1 . 1 1
491405 = Y55 1. 11
491404 = X56 1 . 1
491405 = X57 1 . 1
491406 = X558 1 . 1
546001 = X59 1 . 1
546002 = X60 1 . 1
546003 = X61 1 . 1
546004 = X62 . . 1 1
546005 = X63 2 . 2 . 1
546006 = Xe64 2 . 2 . 1
546007 = x65 . . .2 . .2 . . . . . 1
66339, =y | 1 2 1 1 2 1 1 1 1 1 1 1 3
66339 =y¢r| 1 1 2 1 1 2 1 1 1 1 1 1 3
663395 =x¢s| 1 1 1 2 1 1 2 1 1 1 1 1 3 .

1638001 = ye9 .2 2 .2 2 1 1 1 1 5 1
1638002 = x70 2 .22 .2 1 1 1 1 ) 1
1638003 = x71 .22 .22 . .1 1 1 1 ) 1
184275, =y | 1 1 1 1 2 2 2 1 2 1 1 1 5 )
1842759 =x73| 1 1 2 2 2 1 1 1 1 2 1 1 ) 1
1842753 =xmu | 1 2 1 2 1 2 1 1 1 1 2 1 5 1
1842754 =x»| 1 2 2 1 1 1 2 1 1 1 1 2 ) 1
1895401 = x76 1 . . 1 1 4 1
1895405 = Y77 1. 1 .1 41
1895403 = X178 1 . . 1 1 4 1
1895404 = X179 1 . 1 1 . 4 1
1895405 = X80 1 . 1 1 . 4 1
1895406 = xs1 . . . . . .1 o1 . . 1 4 1
2187007 = xs2 2 2 2 2 2 2 2 1 1 1 1 1 6 1
2457001 =xso | 4 4 4 4 4 4 4 4 2 2 2 2 71 1




(Block 1:) | ¢15 w16 ¥17 @18 P22 P23 P24 P28 P29 P30

291204 = X41 1 .

291205 = X42 1 .

291206 = X43 . 1

409501 = X44 1

409502 = X45 1

409503 = X46 1 .

409504 = X471 1 1 .

409505 = X48 1 1 .

409506 = X49 . 1 1

491401 = X53 1 .

491405 = Y54 1 .

491404 = X56 . 1 1 1 .

491405 = x57 | 1 | 1 :

491406 = 55 | 1 1 1 )

546001 = X559 1 .

546002 = X60 1 .

546003 = X61 1

546004 = X62 . .

546005 = X63 1 1 .

546006 = X64 1 1 .

546007 = X65 1 . 1

663391 = X66 1 1 .

663392 = Xe67 1 1 .

663393 = X68 . . . 1 . 1
1638001 = X69 1 1 1 1 . 1 1
1638002 = X170 1 1 1 1 1 . 1
1638003 = X171 1 1 1 1 1 1 . .
184275, =y | 1 1 1 1 1 1 1 1 )
1842755 = Y73 .11 1 1 . 1 .
1842753 = 74 | 1 .11 1 ) 1
1842754 = x5 1 1 . 1 1 .
1895401 = x76 1 1 1 . 1
1895404 = x70 | 1 1 1 1. 1.
1895405 = xso | 1 1 1 1 1 1
1895406 = X81 1 1 1 . . . 1 1
2187001 = xs2 1 1 1 2 1 1 1
2457001 = xs9 1 1 1 3 1 1 1




(Block 1:) | ¢31
291204 = X41
291205 = X42
291206 = X43
409501 = X44
409502 = X45
409503 = X46
409504 = X471
409505 = X48
409505 = X49
491401 = X553
491402 = X54
491403 = X55
491404 = X56
491405 = X57
491406 = X558
546001 = X559
546002 = X60
546003 = X61 .
546004 = X62 1
546005 = X63
546006 = X64
546007 = X65
663391 = X66
663392 = Xe67
663393 = X68

1638001 = X69
1638002 = X170

1638003 = X171
1842751 = X72
1842752 = X173
1842753 = X174
1842754 = X175
1895401 = X176
1895402 = X7
1895403 = X178
1895404 = x79
1895405 = X80
1895406 = X81
2187001 = X82
2457001 = X89




(Block 1:) | o1 @2 w3 @04 @5 @6 P71 Y8 P9 Y0 P11 P12 P13 Pua

2620801 = x90 . 2 . . 2 . 1 1 1 1 6 2
2620802 = xo1 . . 2 . . 2 . 1 1 1 1 6 2
2620803 = x92 . . . 2 . . 2 1 1 1 1 6 2
2620804 = x93 . 2 . . 2 . 1 1 1 1 6 1
2620805 = Y94 . . 2 . . 2 . 1 1 1 1 6 1
2620806 = X95 . . . 2 . . 2 1 1 1 1 6 1
2912001 = X6 . . . . . . 2 2 2 2 8 1
2912002 = x97 2 2 2 2 2 2 3 1 1 1 8 2
2912003 = xos 2 2 2 2 2 2 1 3 1 1 8 1
2912004 = x99 2 2 2 2 2 2 1 1 3 1 8 1
2912005 = X100 2 2 2 2 2 2 1 1 1 3 8 1
4914001 = x111 . 2 2 2 2 2 2 3 3 3 3 13 2
5314417 = x112 1 1 1 1 1 1 1 1 1 1 1 11 3
(BlOCk 13) P15 Y16 @17 P18 P19 P20 P21 P22 P23 P24 P28 P29 P30
2620801 = x90 2 1 1 2 . . 1 . . . . 1
2620804 = xo3 1 2 2 1 2 . 1 1 .
2620805 = xo94 2 1 2 1 2 1 1
2620806 = X905 2 2 1 1 2 1 .
2912001 = xo96 1 1 1 . . . . . . . 1 1 1
2912002 = xo7 1 1 1 2 1 1 1 1 1 1 1 .
2912003 = xos 2 1 1 2 1 1 1 1 1 1 1
2912004 = x99 1 2 1 2 1 1 1 1 1 1 1
2912005 = X100 1 1 2 2 1 1 1 1 1 1 .
4914001 = x111 2 2 2 1 1 1 1 1 1 1 1 1 1
5314411 = X112 3 3 3 1 1 1 1 1 1 1 1 1 1




(Block 1:)

P31

2620801 = o0

2620805 = yo1 | 1
2620803 = X92
2620804 = X093
2620805 = you | .
2620806 = x95 1
2912001 = X96 1
2912002 = Xo7
2912003 = X98
2912004 = X99 .
29].2005 = X100 1
4914001 = X111 1
5314411 = X112 1
Block 2: | p25 @32 ¢35
465921 = X50 1 .
232060, = ys3 | 1 1 .
2320604 = yss | 1 1
4193281 = X105 1 1 1
4659201 = X108 2 1 1

P1
P2
¥3
P4
¥s5
¥6
Y7
¥8
P9
®10
P11
P12
¥13
©14
©15
®16
P17
P18
®19
©20
®21
Y22
P23
P24
©28
®29
©30
P31

¥25
©32
©35

1y
2601
2602
2603
2604
2605
260¢
2984
11961
11965
11965
11964
28081
141964
14196,
141965
141964
153924
176801
176805
176803
176804
176805
17680¢
505964
505965
505963
505964

= 46592,
= 186368
= 1863684



Block 3: | o5 ¢33 ¥36
465925 = Y51 1 .
2329602 = Y84 1 1 .
2329605 = g7 1 . 1
4193285 = Y106 1 1 1
4659202 = X109 2 1 1
Block 4: | o7 @34 @37
465923 = Y52 1 .
2329603 = xs5 1 1 .
2329606 = xss 1 . 1
4193283 = X107 1 1 1
4659203 = Y110 2 1 1
Block 5: | ¢35
3328001 = X101 1
3328002 = X102 1
3328003 = X103 1
3328004 = X104 1

©38

©26
©33
©36

w27
P34
Y37

= 46592,
= 1863682
= 1863685

= 465923
1863683
= 186368¢

3328004



